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I. Answer the following in detail :           (2 < 15 = 30)

1. Describe the Breach presentations.  Explain its diagnosis, management and

Complications.

Å!*5zŸs#™DƒñZkÅøáÔ (Breach Presentations) ¼*¬ã 1X
’k,<X úZgŸ]ZzgZOð!*5

2. Write  in  detail  about  the  Diagnosis,   symptoms  and  signs  of  a  normal

Pregnancy.

’k,<X 8ÜÅøáÔZ²Znźâ]!*5 2X
II. Answer the following :         (10 < 5 = 50)
1. Describe the mechanism of Labour.

X< zäÜ»}6ÅzŸs# 1X
2. What do you know about the polyhydraminos?

Ò]âYZÑ�ÏÐH%ZŠì? 2X
3. Write about Hyperemesis Gravidum.
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ÄA)ÿGoÆ0’k,<X 3X

4. Write about Pregnancy Induced Hypertension.

r©�î
EEGZ−x̧~/zzÜÆ0’k,<X 4X

5. Write about the Ectopic Pregnancy and management of Tubal Pregnancy.

»Oð Tubal Pregnancy Ü{g`Zig3Æ0’k,™DƒñÜZtt 5X
’k,<X

6. What is Hegars Sign? 

ÐH%ZŠì? Hegars Sign 6X
7. What is Colostrum?

ÐH%ZŠì? (Colostrum) ZÉÒ5éE 7X
8. Write about Chorion.

ÐH%ZŠì?’k,<X Chorion “hé
EIYZ

Ä
D454è EEGE 8X



9. What is Antipartum Hemorrhage?

IzÑŠ]̀c*ypyÐH%ZŠì? 9X
10. What is Robert's Sign?

H%ZŠì?’k,<X Robert's Sign 01X
III. Answer the following :         (10 < 2 = 20)

1. Write about the functions of Amniotic Fluid.

âYZÑ�ÏÆZdw’k,<X 1X
2. What is Pelvimetry?

îkjnZ°:ÐH%ZŠì?’k,<X 2X
3. What do you mean by Morning Sickness?

ayZˆkÐW\HB÷sX 3X
4. Write about the stages of Labour.

zäÜÆŠgY]Æ0’k,<X 4X
5. What is Habitual Abortion?

ZboZ
ÄA)ÿ¬ŠCÐH%ZŠì? 5X

6. Write about the indications and Medical usage of Caesarian Section.

Ô„~ÆñZµz¢zg]ZEw’k,<X 6X
7. What is Septic Abortion?

ZboZ
ÄA)ÿZ

Åš©-
ö
EE

ÐH%ZŠìX 7X
8. What is the Obstetric significance of abnormal Placentac?

)8!o-*î IGÆDrZÌzS¤Hì’k,<X 8X
9. What do you mean by Intra Uterine Death?

Šzgzyg3ñ]ÐH%ZŠì? 9X
10. Write a note on Iron  Deficiency Anemia in Pregnancy.

ÜÆŠzgZyº¯ÑŠ~LZ−x6,â’̂k,<X 01X
_______________
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